—_

.L)\)

B

|

SN

~

o

F3 PLBRLERAN ) RI9F RS - Y= e pY ¢ 2P=R(F5E)

C EAR(-HE2AL8R)

(2) - k8 HBHAPRR A 9 L6

@FF Qaonr @27 o

ORUEEEIEE UL SR ERE S
? O> @2 @6 @8-

(2) T & one g A 4?2 D28 66 100
@47-23-119 @22-81~75 @571~ 104

@)7%éw4%%z§%é?

@%@ @?@ Q3% @DI3B -

AR

CBAE R 1AL 254)

(T x 400, E R (28 ) BE 04k
£ ( 2800 )
12x7=84» 7R p: 12x70= (840 ) ;

12x700= (8400 )

120x70= (8400 ) -
3o 1380 oA p 4R 60k
714020 ® 5K e

(1) ERBEL5E () s ERBENL (7 )
(2) K& Eavg 5 (ENEL) -
C(po>C > )>(C ¢

- @I 4 3 9

(D2Hr7ad L 2 )

) > C ")

(2)3%%57;‘53‘;1,"fr?fﬁ;éé;ﬁ;‘bzl L=k §
1, R 10
_EI“J.L,J ’ I)‘L‘a‘::' il
( 10 )‘B;g 37 ’L’/T}K( 9
(3)4¥Eiﬁﬁuifr11&§ﬁ;‘bfz Lde g
( B
9
(19 )BH~E&A=2KE 9 ~-
ToHE Rl e ] T 2 Hlich
PR (10 Y22 F (12 ) T2 an

T e chn i (2 ) T AL

) #3175 4

) & 395 3

Ll

C v
182 12817 (6) Bo> 2 (2 =1 )
6 6 6 6
- BERRT A0 RipMfr2 BIPx Ee 1 20
© ) B

@irgst (6 ) o (L
¢ v 281514=20 1> 2 % 35
282:14 chapc (2 ) o

285+14 et (5 ) o

—ETT OAEL L

3
3
2m9mm

—

IEREEF 38T ESN(-H24 K 164)
2
9

6 x 400=2400
70 x 90=6300

421 + 3=140...1
305 + 5=061

26 24 2% —52A9F4=(20) 24~ (3) T



8. L2am+82aaTx4=(20) 24 (7) %

I BEFFW2A544)
. 27m ¥ e FHERE 3oL 6FK e M

2. FMT R AEBMRLE - A A F -
B A2 20T 24k A

lcm

1cm

A FRRRAEEFLAETA)
L - BEFTAS108A 3B

(1) (2) (3

C 2 Yo <

9 7
R — 7}\2 _— 7]:\2
10 10 ) # ( 10 ) #

el LESE PR TR S ST

(1O®A; " g ff 8 (
(2O e g ff A (
(3B P a4 A (
(457 g 2 (

3 ) T3 Lo
4 ) T3 20 o
h ) T3 24 o
6

) Lo o

S BT AL(EALA A £ 28 4)

1. e k-2 5% 100 ~4- 2 5 500 ~ - B o EH
¢ﬁﬁ%$%4@gs$w4’w&@%%n E 3 -
55 R g

100x2+500x2=1200
1200x4=4800
% :4800 ~

2 LBt ARHPRIE e F Bl £ AR R L
BaAb6EF  HHTLLF I 326 2 Fe
RedFRALB2ABTL2(FEINEEF)

A % 5F
8 6
+ 3 6
12 2

$:12 20 9% 4
3.ﬂﬂ%?%ﬁ%%’%%wﬂﬂiﬁgﬁ’%%%ﬁﬁ
EHIEDA A LT S g 0

3 2 5
1) 24£=2
()6 6 6

@ <+

oo
|
o |

1) 2 £ (@ #x

4z EmG 1234 5 hREPE S B R P
Faw ik QA s B RBRER]IR2(FESEER)

o o

‘)\'ﬁ -3 TE?E’

123 + 9=13..6 (]2 ;%)

13+1=14
él4%§%
5. AR SR e FFEICA0E H o Aok 5 BIK S -
£ BRIV EIBEIERFTAEI(PESEER)
410 + 8=51..2 (5] % 5%)
g1 VASLE T 29
6. G 30~ g E | A3 R P ES ] #

180 0 R IFEY 5 A0

30 x 3=90
90 x 8= 720
F:.720 ~

7. TR E B R RE] T a8 dek 8RS )

T 2B fkehz £450 - Bz &5 FE S0 Q
lcm
‘lecm
6 x 3=18
18 +2=9

9L o0



